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funsZ’k % & 1. ijh{kkFkhZ vius vuqØekad] fo”k; ,oa Á’uiqfLrdk dh fljht dk fooj.k ;FkkLFkku lgh& lgh Hkjsa] vU;Fkk 

ewY;akdu esa fdlh Hkh Ádkj dh folaxfr dh n’kk esa mldh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA 
 2. bl Á’uiqfLrdk esa 100 Á’u gSa] ftues ls dsoy 75 Á’uksa ds mRrj ijh{kkfFkZ;ksa }kjk fn;s tkus gSA ÁR;sd 

Á’u ds pkj oSdfYid mRrj Á’u ds uhps fn;s x;s gSaA bu pkjksa esa ls dsoy ,d gh mRrj lgh gSA ftl 

mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. ANSWER SHEET) 
esa mlds v{kj okys oR̀r dks dkys ;k uhys cky IokabV isu ls iwjk Hkj nsaA ;fn fdlh ijh{kkFkhZ }kjk 

fu/kkZfjr Á’uksa ls vf/kd Á’uksa ds mRrj fn;s tkrs gSa rks mlds }kjk gy fd;s x;s ÁFker% ;Fkk fufnZ”V 

Á’uksRrjksa dk gh ewY;kadu fd;k tk;sxkA 

 3. ÁR;sd Á’u ds vad leku gSaA vki ds ftrus mRrj lgh gksaxs] mUgha ds vuqlkj vad Ánku fd;s tk;saxsA 

 4. lHkh mRrj dsoy vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij gh fn;s tkus gSaA 

mRrj i=d esa fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k mRrj ekU; ugha gksxkA 

 5. vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s 

x;s lHkh vuqns’kksa dks lko/kkuhiwoZd i<+ fy;k tk;A  

 6. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks viuh Á’uiqfLrdk cqdysV ,oa vksŒ,eŒvkjŒ ‘khV 

iF̀kd&iF̀kd miyC/k djkus ds ckn gh ijh{kk d{k ls ÁLFkku djsaA 

 7. fuxsfVo ekfdZax ugha gSA 

egRoiw.kZ % &  Á’uiqfLrdk [kksyus ij ÁFker% tkWp dj ns[k ysa fd Á’uiqfLrdk ds lHkh ì”B HkyhHkkWfr Nis gq, gSaA ;fn 

Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh fljht dh nwljh Á’uiqfLrdk ÁkIr dj ysaA 
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1. In India Income tax was introduced for the first 
time in: 
(A)   1726 
(B) 1833 
(C) 1860 
(D) 1909 

 1. Hkkjr esa loZizFke vk;dj dks izLrqr fd;k x;k% 
(A) 1726 
(B) 1833 
(C) 1860 
(D) 1909 

2. Who of the following introduced income tax first 
time in India   
(A)   James Wilson 
(B) Lord canning  
(C) Lord Thomas  
(D) Lord Robert    

 2. fuEu esa ls dkSUk Hkkjr esa loZizFke vk;dj izLrqr 
fd;k% 
(A) tsEl foYlu 
(B) ykMZ dsfuax 
(C) ykMZ Fkkel 
(D) YkkMZ jkcVZ 

3. Which of the following is an ancient book on 
taxation?   
(A)   Manu Smriti 
(B) Arthasastra  
(C) Both (A) and (B) 
(D) None of the above  

 3. fuEu esa ls dkSu dkjk/kku ij ,d izkphu iqLrd gS% 
(A) euqLèfr 
(B) vFkZ’kkL= 
(C) (A) vkSj (B) nksuksa 
(D) mijksDr esa ls dksbZ ugh 

4. Kautilya’s concept of taxation is based on: 
(A)   Equity  
(B) Justice   
(C) Necessity   
(D) All the above   

 4. dkSfVY; dk dkjk/kku dh ladYiuk vk/kkfjr gS% 
(A) lkE;k 
(B) U;k; 
(C) vko’;drk 
(D) mijksDr lHkh 

5. Income tax law was not amended in: 
(A)   1918 
(B) 1922 
(C) 1923  
(D) 1961  

 5. vk;dj fof/k la’kksf/kr ugh gqbZ% 
(A) 1918 
(B) 1922 
(C) 1923 
(D) 1961 

6. Income tax Act 1961 come into force from:   
(A)   January 1,1961 
(B) March 1,1961 
(C) June 1,1961 
(D) None of the above   

 6. vk;dj vf/kfu;e 1961 ykxw gqvk% 
(A) tuojh 1]1961 
(B) ekpZ 1]1961 
(C) twu 1]1961 
(D) mijsDr esa ls dksbZ ugh 

7. Which of the following part of the Indian 
constitution contains provision relating to 
finance etc.?   
(A)   XVI 
(B) XIV 
(C) XV 
(D) XII 

 7. fuEu esa ls Hkkjrh; lafo/kku dk dkSu lk Hkkx foŸk 
vkfn ls lEcfU/kr micU/k lekfgr gS% 
(A) 16 
(B) 14 
(C) 15 
(D) 12 

8. “No tax shall be levied or collected except by 
authority of law.” Which of the following Article 
provides this:   
(A)   264 
(B) 265 
(C) 266 
(D) 267   

 8. 
 
 

^^dksbZ dj fof/k ds izkf/kdkj ls gh vf/kjksfir ;k 
laxf̀gr fd;k tk,xk] vU;Fkk ugh** mDr miCkU/k 
fdl vuqPNsn es gS % 
(A) 264 
(B) 265 
(C) 266 
(D) 267 
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9. Which of the following article of the Indian 
constitution deals with consolidated fund? 
(A)   265 
(B) 266 
(C) 280  
(D) 291   

 9. fuEu esa ls Hkkjrh; lafo/kku dk dkSu lk vuqPNsn 
lafpr fuf/k ls lEcfU/kr gS% 
(A) 265 
(B) 266 
(C) 280 
(D) 291 

10. Which of the following Article of the Indian 
constitution deals with contingency fund?   
(A)   264 
(B) 364 
(C) 182 
(D) 267 

 10. fuEu esa ls Hkkjrh; lafo/kku dk dkSu lk vuqPNsn 
vkdfLedrk fuf/k ls lEcfU/kr gS% 
(A) 264 
(B) 364 
(C) 182 
(D) 267 

11. Which of the following Article provides that Duty 
levied by the Union but collected and 
appropriated by the states?   
(A)   267 
(B) 268 
(C) 268 A 
(D) 270  

 11. fuEu esa ls dkSu lk vuqPNsn ;g izko/kku djrk gS 
fd la?k }kjk mnz̀ghr fd, tkus okys fdUrq jkT;ks 
}kjk laxg̀hr vkSj fofu;ksftr ‘kqYd%  
(A) 267 
(B) 268 
(C) 268 A 
(D) 270 

12. Which of the following Article of the Indian 
constitution deals with surcharge?  
(A)   280 
(B) 281 
(C) 273 
(D) 271 

 12. fuEu esa ls Hkkjrh; lafo/kku dk dkSu lk vuqPNsn 
vf/kHkkj ls lEcafU/kr gS 
(A) 280 
(B) 281 
(C) 273 
(D) 271 

13. Surcharge shall form the part of the: 
(A)   Consolidated fund 
(B) Contingency fund 
(C) Both (A) and (B) 
(D) None of the above  

 13. vf/kHkkj fdl fuf/k dk Hkkx gSA 
(A) lafpr fuf/k 
(B) vkdfLed fuf/k 
(C) (A) vkSj (B) nksuks 
(D) mijksDr esa ls dksbZ ugh 

14. Which of the following Article deals with Grants 
in lieu of export duty:?   
(A)   266 
(B) 270 
(C) 272  
(D) 273   

 14. fuEu esa ls dkSu lk vuqPNsn fu;kZr ‘kqYd ds LFkku 
ij vuqnku ls lEcfU/kr gS% 
(A) 266 
(B) 270 
(C) 272 
(D) 273 

15. Which of the following Justice is not contained 
in the preamble of Indian constitution?   
(A)   Political 
(B) Social 
(C) Legal  
(D) Economic   

 15. fuEu esa ls dkSu lk U;k; Hkkjrh; lafo/kku dh 
mn~nsf’k;k esa lekfgr ugha gS% 
(A) jktuSfrd 
(B) lkekftd 
(C) fof/kd 
(D) vkfFkZd 
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16. Which of the following Article deals with grants 
from Union to certain states?  
(A)   265 
(B) 270 
(C) 274 
(D) 275 

 16. fuEu esa ls dkSu lk vuqPNsn dqN jkT;ksa dks la?k ls 
vuqnku ls lEcfU/kr gS% 
(A) 265 
(B) 270 
(C) 274 
(D) 275 

17. Which of the following Article deals with Tax on 
Professions?   
(A)   269 
(B) 273 
(C) 279 
(D) None of the above    

 17. fuEu esa ls dkSu lk vuqPNsn of̀Ÿk;ksa ij dj ls 
lEcfU/kr gS% 
(A) 269 
(B) 273 
(C) 279 
(D) mijksDr esa ls dksbZ ugh 

18. Which of the following article deals with net 
proceeds?   
(A)   259 
(B) 263 
(C) 279  
(D) 277   

 18. fuEu esa ls dkSu lk vuqPNsn Þ’kq) vkxeß ls 
lEcfU/kr gS%  
(A) 259 
(B) 263 
(C) 279 
(D) 277 

19. Whose Certificate shall be final regarding Net 
Proceeds:   
(A)   Speaker of the Lok Sabha  
(B) Finance minister   
(C) Finance secretary  
(D) None of the above   

 19. ‘kq) vkxe ds lEcU/k esa fdldk izek.k i= vfUre 
gksxk 
(A) yksd lHkk dk Lihdj 
(B) foŸkea=h 
(C) foŸk lfpo 
(D) mijksDr esa ls dksbZ ugha 

20. What in not included in Net Proceeds: 
(A)   Cost of collection  
(B) Tax  
(C) Duty  
(D) None of the above  

 20. ‘kq) vkxe esa D;k lfEefyr ugh gS% 
(A) Lkaxzg.k dk [kpkZ 
(B) dj 
(C) ‘kqYd 
(D) mijksDr esa ls dksbZ ugh 

21. Which of the following Article deals with 
certification by the comptroller and Auditor 
General of India?   
(A)   268 A 
(B) 279 
(C) 280 
(D) 263  

 21. fuEu esa ls dkSu lk vuqPNsn Hkkjr ds fu;U=d ,ao 
egkys[kk ijh{kd ds izek.ku ls lEcfU/kr gS% 
(A) 268 A 
(B) 279 
(C) 280 
(D) 263 

22. Which of the following Article deals with the 
finance commission?   
(A)   280 
(B) 275 
(C) 270  
(D) 269 A   

 22. fuEu esa ls dkSu lk vuqPNsn foŸk vk;ksx ls lECkfU/kr gS% 
(A) 280 
(B) 275 
(C) 270 
(D) 269 A 

23. Which of the following Article deals with 
exemption of property of the Union from state 
taxation:   
(A)   282 
(B) 288 
(C) 289  
(D) 285 

 23. fuEu esa ls dkSu lk vuqPNsn la?k dh lEifŸk dks 
jkT; ds djk/kku ls NwV ls lEcfU/kr gS%  
(A) 282 
(B) 288 
(C) 289 
(D) 285 
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24. Whom of the following does not have 
exemption from tax 
(A)   Electricity  
(B) Military salary  
(C) Medical Instrument  
(D) None of the above  

 24. fuEu esa ls fdls djks ls NwV ugh gS%  
(A) fo|qr 
(B) lSU; osru 
(C) fpfdRlk midj.k 
(D) mijksDr esa ls dksbZ ugh 

25. Which of the following is not a direct tax?   
(A)   Income tax 
(B) Corporate tax 
(C) Wealth tax 
(D) None of the above 

 25. fuEu esa ls dkSu izR;{k dj ugh gS% 
(A) vk;dj 
(B) fuxe dj 
(C) /ku dj 
(D) mijksDr esa ls dksbZ ugh 

26. Which of the following is a direct tax?  
(A)   Service Tax 
(B) VAT 
(C) Gift Tax  
(D) None of the above 

 26. fuEu esa ls dkSu izR;{k dj gS% 
(A) lsok dj  
(B) oSV 
(C) nkudj 
(D) mijksDr esa ls dksbZ ugh 

27. Illegally levied tax must be: 
(A)   Returned   
(B) Seized  
(C) Set off  
(D) None of the above    

 27. voS/k :Ik ls mn~xzghr dj gksuk pkfg, 
(A) okil 
(B) tCr 
(C) eqtjk 
(D) mijksDr esa ls dksbZ ugh 

28. New India Industries vs Union of India case is 
related to:  
(A)   Tax 
(B) Duty 
(C) Illegally Tax levied  
(D) Illegally duty levied   

 28. U;w bf.M;k bUM.Vªht cuke Hkkjr la?k dk ekeyk 
lEcfU/kr gS%  
(A) dj 
(B) ‘kqYd 
(C) voS/k :Ik ls mn~xzghr dj 
(D) voS/k :Ik ls mn~xzghr ‘kqYd 

29. Which of the following article is omitted by the 
constitution (one hundred and first Amendment) 
Act. 2016:  
(A)   268 A 
(B) 268 B 
(C) 264 
(D) 279 

 29. fuEu esa ls fdl vuqPNsn dks lafo/kku ¼,d lkS ,d 
la’kks/ku½ vf/kfu;e 2016 }kjk foyksfir dj fn;k 
x;k% 
(A) 268 A 
(B) 268 B 
(C) 264 
(D) 279 

30. Which of the following Article is Amended in 
1956,1982 and 2000?   
(A)   268A 
(B) 269 
(C) 269 A 
(D) 268   

 30. fuEu esa dkSu lk vuqPNsn 1956]1982 ,ao 2000 esa 
la’kksf/kr fd;k x;k 
(A) 268 A 
(B) 269 
(C) 269 A 
(D) 268 

31. Which of the following Article is instituted in 
2016:?  
(A)   268 A 
(B) 269 A 
(C) 279 A 
(D) All the above    

 31. fuEu esa dkSu lk vuqPNsn 2016 esa izfrLFkkfir fd;k 
x;k% 
(A) 268 A 
(B) 269 A 
(C) 279 A 
(D) mijksDr lHkh 
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32. The constitution (one hundred) and first 
Amendment) Act 2016. came into force on:    
(A)   Sept 16,2016 
(B) Sept 11,2016 
(C) Sept 16,2017 
(D) Sept 11,2017 

 32. Lakfo/kku ¼,d lkS ,d la’kks/ku½ vf/kfu;e 2016 
izofrZr gqvk% 
(A) flrEcj 16]2016 
(B) flrEcj 11]2016 
(C) flrEcj 16]2017 
(D) flrEcj 11]2017 

33. Final Authority for borrowing is:   
(A)   Parliament  
(B) Finance minister  
(C) Lok Sabha   
(D) Finance secretary   

 33. _.k gsrq vfUre izkf/kdkjh gS 
(A) laln 
(B) foŸk ea=h 
(C) yksd lHkk 
(D) foŸk lfpo 

34. Which of the following Article deals with 
borrowing? 
(A)   292 
(B) 293 
(C) 294  
(D) Both (A) and (B) 

 34. fuEu esa ls dkSu lk vuqPNsn _.k ysus ls lEcfU/kr 
gS 
(A) 292 
(B) 293 
(C) 294 
(D) (A) vkSj (B) nksukas 

35. Right to property is 
(A)   Fundamental Rights  
(B) Constitutional Right  
(C) Statutory Right   
(D) None of the above  

 35. lEifŸk dk vf/kdkj gS 
(A) ewy vf/kdkj 
(B) laoS/kkfud vf/kdkj 
(C) lakfof/kd vf/kdkj 
(D) mijksDr esa ls dksbZ ugh 

36. Which of the following part of the constitution 
contain Right to Property?   
(A)   XII 
(B) XIII 
(C) XIV  
(D) XV   

 36. lEifŸk dk vf/kdkj lafo/kku ds fdl Hkkx esa gS%  
(A) 12 
(B) 13 
(C) 14 
(D) 15 

37. Which constitutional Amendment regulates 
Right to property  
(A)   41 
(B) 42 
(C) 43 
(D) 44   

 37. fdl lafo/kku la’kks/ku }kjk lEifŸk dk vf/kdkj 
fofu;fer fd;k x;k% 
(A) 41 
(B) 42 
(C) 43 
(D) 44 

38. K.T. plantation PVT. LTD. Vs. State of Kerala 
case is related to    
(A)   Tax 
(B) Duty 
(C) Property 
(D) None of the above   

 38. dsŒVhŒ IykUVs’ku izkŒfyŒ cuke dsjy jkT; dk 
ekeyk lEcfU/kr gS 
(A) dj 
(B) ‘kqYd  
(C) lEifŸk 
(D) mijksDr esa ls dksbZ ugh 

39. Tukaram Kanna Joshi Vs. M.I.D.C. case is 
related to   
(A)   Article 265 
(B) Article 279 
(C) Article 280 
(D) Article 300A 

 39. rqdkjke dUuk tks’kh cuke ,eŒvkbZŒMhŒlhŒ dk 
ekeyk lEcfU/kr gS  
(A) vuqŒ 265 
(B) vuqŒ 279 
(C) vuqŒ 280 
(D) vuqŒ 300A 
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40. Bishamber Vs. state of U.P. is related to   
(A)   Article 300A 
(B) Article 300 
(C) Article 278  
(D) Article 277   

 40. fo’kEHkj cuke mŸkj izns’k jkT; dk ekeyk lEcfU/kr gS% 
(A) vuqŒ 300A 
(B) vuqŒ 300 
(C) vuqŒ 278 
(D) vuqŒ 277 

41. Which of the following Tax is no more Tax?  
(A)   Service Tax 
(B) VAT 
(C) Sale Tax 
(D) All the above    

 41. fuEu esa ls dkSu lk dj lEkkIr gks x;k gS%  
(A) lsok dj 
(B) oSV 
(C) foØh dj 
(D) mijksDr lHkh 

42. Which of the following Article has been 
repeated?  
(A)   278 
(B) 268A 
(C) 291 
(D) All the above  

 42. fuEu esa ls dkSu lk vuqPNsn fujflr gks x;k gS% 
(A) 278 
(B) 268A 
(C) 291 
(D) mijksDr lHkh 

43. Tax is:   
(A)   A Compulsory financial charge   
(B) A Voluntarily Financial charge   
(C) Both (A) & (B)  
(D) None of the above    

 43. dj gS  
(A) ,d vfuok;Z foŸkh; vf/kHkkj 
(B) ,d LoSfPNd foŸkh; vf/kHkkj 
(C) (A) vkSj (B)nksuksa 
(D) mijksDr esa ls dksbZ ugh 

44. Most Countries Imposes Tax on:  
(A)   An Individuals Income  
(B) Corporate Income 
(C) Both (A) and (B)  
(D) None of the above  

 44. vf/kdka’k ns’kksa esa dj vf/kjksfir fd;k tkrk gS%  
(A) O;fDrxr vk; 
(B) fuxe vk; 
(C) (A) vkSj (B)nksuks  
(D) mijksDr esa ls dksbZ ugh 

45. Pay as 404 earn is the basis of:  
(A)   Income Tax 
(B) Sale Tax 
(C) VAT  
(D) Service Tax   

 45. *ftruk dekbZ mruk Hkqxrku vk/kkj gS%  
(A) vk;dj 
(B) fcØhdj 
(C) oSV 
(D) lsok dj 

46. What is negative Income Tax  
(A)   Progressive Income Tax system  
(B) Developed Income Tax system  
(C) Capitalist Income Tax system   
(D) None of the above  

 46. udkjkRed vk;dj D;k gS 
(A) izxfr’khy vk;dj iz.kkyh 
(B) fodflr vk;dj iz.kkyh 
(C) iw¡thoknh vk;dj iz.kkyh  
(D) mijksDr esa ls dksbZ ugh 

47. The capital gain is a gain on: 
(A)   Sale of capital assets  
(B) Interest  
(C) Compensation  
(D) None of the above    

 47. iw¡th ykHk ,slk ykHk gS 
(A) tks iw¡thxr lEifŸk ds foØ; ls izkIr gks 
(B) tks C;kt ls izkIr gks 
(C) tks izfr dj ls izkIr gks 
(D) mijksDr esa ls dksbZ ugh 

48. Corporate Tax refers to: 
(A)   Income Tax 
(B) Capital Tax 
(C) Both (A) & (B) 
(D) None of the above 

 48. fuxe dj esa lUnfHkZr gS 
(A) vk;dj 
(B) iw¡th dj 
(C) (A) vkSj (B) nksuksa 
(D) mijksDr esa ls dksbZ ugh 
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49. A wealth Tax is levied on the total value of: 
(A)   Personal Assets 
(B) Collective Assets 
(C) Family Assets 
(D) None of the above  

 49. /kudj fdlds dqy ewY; ij mn~xzghr gksrk gS% 
(A) O;fDrxr ,lsV~l 
(B) lkewfgd ,lsV~l 
(C) ikfjokfjd ,lsV~l 
(D) mijksDr esa ls dksbZ ugh 

50. Personal Asset Includes   
(A)   Bank Deposit  
(B) Real Estate  
(C) Insurance   
(D) All the above    

 50. O;fDrxr ,lsV~l esa lfEefyr gS 
(A) cSad fMikfTkV  
(B) fj;y LVsV  
(C) chek 
(D) mijksDr lHkh 

51. Tax arises on the death of an Individual is 
called   
(A)   Inheritance Tax 
(B) Estate Tax 
(C) Both (A) and (B) 
(D) None of the above 

 51. fdlh O;fDr dh èR;q ij mRiUu dj dgykrk gS  
(A) mŸkjkf/kdkj dj 
(B) lEink dj 
(C) (A) vkSj (B) nksuksa 
(D) mijksDr esa ls dksbZ ugh 

52. A value added Tax is also known as  
(A)   Goods and service Tax 
(B) Single Business Tax 
(C) Both (A) and (B) 
(D) None of the above  

 52. ewY; of/kZr dj fdlds :Ik esa Hkh Kkr gS  
(A) oLrq ,ao lsok dj 
(B) ,dy O;kikj dj 
(C) (A) vkSj (B) nksuksa 
(D) mijksDr esa ls dksbZ ugh 

53. Value added Tax is equivalent to: 
(A)   Income Tax 
(B) Sale Tax 
(C) Corporate Tax 
(D) Wealth Tax 

 53. ewY; of/kZd dj leku gS  
(A) vk;dj 
(B) fcØhdj 
(C) fuxe dj 
(D) /kudj 

54. Tax system is a system: 
(A)   Static 
(B) Changing  
(C) Necessary   
(D) Both (B) and (C)   

 54. dj iz.kkyh ,d iz.kkyh gS 
(A) fLFkj 
(B) ifjorZu’khy 
(C) vko’;d 
(D) (B) vkSj (C) nksuksa 

55. Which of the following is an Indirect Tax : 
(A)   Income Tax 
(B) Wealth Tax 
(C) Corporate Tax 
(D) None of the above  

 55. fuEu esa ls dkSu vizR;{k dj gS% 
(A) vk;dj 
(B) /kudj 
(C)   fuxe dj 
(D) mijksDr esa ls dksbZ ugh 

56. Excise duty is:  
(A)   Direct Tax 
(B) Indirect Tax 
(C) Less 
(D) None of the above   

 56. mRikn ‘kqYd gS 
(A) izR;{k dj 
(B) vizR;{k dj 
(C) midj 
(D) mijksDr esa ls dksbZ ugh 

57. Excise duty is imposed upon goods during the 
process of their  
(A)   Manufacture  
(B) Production  
(C) Distribution  
(D) All the above  

 57. mRikn ‘kqYd eky ds fdl izØe ij vf/kjksfir fd;k 
tkrk gS% 
(A) fuekZ.k 
(B) mRiknu 
(C) forj.k 
(D) mijksDr lHkh 
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58. Excise duty first time introduced in  
(A)   England  
(B) France 
(C) U.S.A. 
(D) India  

 58. 
 
 

mRikn ‘kqYd loZizFke izLrkfor fd;k x;k% 
(A) bXyS.M  
(B) Ýakl 
(C) ;wukbVsM LVsV~l vkWQ vesfjdk 
(D) Hkkjr 

59. Who of the following devised the excise duty 
(A)   John Major 
(B) John Pym 
(C) Churchill  
(D) Kenning   

 59. fuEu esa ls dkSu mRikn ‘kqYd dks izofrZr fd;k%  
(A) tku estj 
(B) tku fie 
(C) pfpZy 
(D) dsfuax 

60. First time excise duty was imposed in : 
(A)   1643 
(B) 1768 
(C) 1850 
(D) 1942 

 60. mRikn ‘kqYd loZizFke dc vf/kjksfir fd;k x;k% 
(A) 1643 
(B) 1768 
(C) 1850 
(D) 1942 

61. Custom duty is a tax which is imposed on:  
(A)   Import 
(B) Export  
(C) Both (A) and (B) 
(D) None of the above   

 61. Lkhek ‘kqYd ,d ,slk dj gS tks vf/kjksfir fd;k 
tkrk gS% 
(A) vk;kr 
(B) fu;kZr 
(C) (A) vkSj (B) nksuks 
(D) mijksDr esa ls dksbZ ugh 

62. Which of the following have a negative effect on 
the economic growth:  
(A)   Tariffs 
(B) Free trade 
(C) Reduction of trade barriers   
(D) none of the above  

 62. fuEu esa ls fdldk izHkko vkfFkZd fodkl ij 
udkjkRed gksrk gS% 
(A) VsfjQ 
(B) eqDr O;kikj 
(C) O;kikj vojks/kksa esa deh 
(D) mijksDr esa ls dksbZ ugh 

63. Sin Tax is based on: 
(A)   Social Engineering  
(B) Volkgiest 
(C) Social solidarity   
(D) None of the above   

 63. Ikki dj vk/kkfjr gS% 
(A) Lkkekftd vfHk;kfU=dh 
(B) yksd psruk 
(C) lkekftd lesdrk 
(D) mijksDr esa ls dksbZ ugh 

64. Which of the following is not a subject matter of 
sin Tax  
(A)   Wine 
(B) Tabacoo 
(C) Pornography   
(D) None of the above  

 64. fuEu esa ls D;k iki dj dh fo”k;oLrq ugh gS% 
(A) ‘kjkc 
(B) rEckdw 
(C) v’yhy lkfgR; 
(D) mijksDr esa ls dksbZ ugh 

65. Carbon Tax may be Imposed on  
(A)   Non renewable fuels 
(B) Renewable Fuels  
(C) Tabacoo 
(D) Wine  

 65. fuEu esa ls fdl ij dkcZu dj vf/kjksfir fd;k tk 
ldrk gS% 
(A) xSj uohuh—r bZ/ku 
(B) uohuh—r bZ/ku 
(C) rEckdw 
(D) ‘kjkc 

66. The Tariffs discourage  
(A)   Trade 
(B) Development  
(C) Economy 
(D) None of the above 

 66. VsfjQ~l grksRlkfgr djrk gS% 
(A) O;kikj 
(B) fodkl 
(C) vFkZO;oLFkk 
(D) mijksDr esa ls dksbZ ugh 
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67. Black money means: 
(A)   Funds earned without tax 
(B) Unaccounted money  
(C) Both (A) and (B)  
(D) none of the above 

 67. dkyk /ku ls vfHkizsr gS 
(A) fcuk dj ds vftZr /kujkf’k 
(B) vys[kkafdr /ku 
(C) (A) vkSj (B) nksuksa 
(D) mijksDr esa ls dksbZ ugh 

68. Total amount of black money deposited in 
foreign banks by Indians is:  
(A)   1/5  of GDP 
(B) 2/5 of GDP 
(C) 3/5 of GDP 
(D) Unknown    

 68. fons’kh cSdksa esa Hkkjrh; }kjk tek dkyk /ku gS% 
(A) thŒMhŒihŒ 1/5   
(B) thŒMhŒihŒ 2/5    
(C) thŒMhŒihŒ 3/5 
(D) vKkr  

69. Black money is accumulated by:  
(A)   Criminals 
(B) Smugglers 
(C) Hoarders  
(D) All the above 

 69. dkyk /ku ,d= fd;k tkrk gS% 
(A) vijk/kh }kjk 
(B) Lexyj }kjk 
(C) tek[kksj }kjk 
(D) mijksDr  lHkh 

70. In a writ petition in the supreme court Black 
Money is estimated even larger than: 
(A)   300 lakh crores 
(B) 500 lakh crores 
(C) 5000 lakh crores  
(D) 8000 lakh crores 

 70. mPpre U;k;ky; esa ,d fjV ;kfpdk esa vkdfyr 
fd;k x;k gS fd dkyk /ku ls Hkh vf/kd gS%  
(A) rhu lkS yk[k djksM+ 
(B) ik¡p lkS yk[k djksM+ 
(C) ik¡p gtkj yk[k djksM+ 
(D) vkB gtkj yk[k djksM+ 

71. As per C.B.I. in 2012 Total Black Money 
deposited in foreign banks is:  
(A)   300 Billion Dollar 
(B) 500 Billion Dollar 
(C) 1.06 Trillion Dollar 
(D) 2 Billion Dollar 

 71. LkhŒchŒvkbZŒ ds vuqlkj 2012 esa dqy fdruk dkyk 
/ku fons’kh cSad esa tek gS% 
(A) 300 fofy;u Mkyj 
(B) 500 fofy;u Mkyj 
(C) 1-06 fVªfy;u Mkyj 
(D) 2 fofy;u Mkyj 

72. Who of the following filed a writ petition in the 
supreme court to help bring back black money   
(A)   Ram Jethmalani 
(B) Harish Salve 
(C) Kapil Sibbal  
(D) Abhishek Manu Singhvi   

 72. fuEu esa ls dkSu mPpre U;k;ky; esa dkyk /ku 
okil ykus esa lgk;rk gsrq ;kfpdk ;ksftr dh% 
(A) jke tsBeykuh 
(B) gjh’k lkYos 
(C) dfiy flCcy 
(D) vfHk”ksd euq fla?koh 

73. In 2011 SIT for Black Money was headed by: 
(A)   Justice B.P. Jeevan Reddy  
(B) Justice T.S. Thakur 
(C) Justice Deepak Mishra 
(D) Justice Gyan Sudha Mishra  

 73. 2011 esa dkyk /ku ij xfBr ,lŒvkbZŒVhŒ dh 
v/;{krk dh xbZ% 
(A) U;k;ewfrZ chŒihŒ thou jsM~Mh 
(B) U;k;ewfrZ VhŒ,lŒBkdqj 
(C) U;k;ewfrZ nhid feJk 
(D) U;k;ewfrZ Kku lq/kk feJk 

74. Who heard the case relating to Black Money: 
(A)   Justice B. Sudarshan Reeddy 
(B) Justice S.S. Nijjar 
(C) Both (A) and (B) 
(D) None of the above 

 74. dkyk /ku ls lEcfU/kr ekeys dh lquokbZ dh 
(A) U;k;ewfrZ chŒ lqn’kZu jsM~Mh 
(B) U;k;ewfrZ ,lŒ,lŒ fuTtj 
(C) (A) vkSj (B) nksuksa 
(D) mijksDr esa ls dksbZ ugh 



Series-A LLB512 / 808 Page - 12 

75. Who of the following was arrested for Black 
Money     
(A)  Hasan Ali 
(B) Saif Ali 
(C) Salman khan 
(D) All the above 

 75. fuEu esa ls fdls dkyk /ku ds fy, fxj¶rkj fd;k 
x;k%  
(A) glu vyh 
(B) lSQ vyh 
(C) lyeku [kku 
(D) mijksDr lHkh 

76. Which of the following court have Jurisdiction to 
hear tax dispute:   
(A)   Supreme court  
(B) High court 
(C) Tax Tribunal 
(D) All the above  

 76. fuEu esa ls fdl U;k;ky; dks dj fookn dh lquokbZ 
dh vf/kdkfjrk gS% 
(A) mPpre U;k;ky; 
(B) mPp U;k;ky; 
(C) dj U;k;kf/kdj.k 
(D) mijksDr lHkh 

77. The order of the Income Tax appellate Tribund 
is applicable before the High court on the issue 
of:  
(A)   Substantial question of law 
(B) Substantial question of fact 
(C) Both (A) and (B) 
(D) None of the above 

 77. vk;dj vihyh; U;k;kf/kdj.k ds vkns’k ls mPp 
U;k;ky; dh vihy dh tk ldrh gS 
(A) fof/k ds ekSfyd iz’u ij 
(B) rF; ds ekSfyd iz’u ij 
(C) (A) vkSj (B) nksuksa 
(D) mijksDr esa ls dksbZ ugh 

78. A Tax dispute can be brought before the 
tribunal or court by way of  
(A)   Application 
(B) Suit 
(C) Petition  
(D) Appeal   

 78. U;k;kf/kdj.k ;k U;k;ky; ds lEeq[k dj fookn 
ek/;e ls yk;k tk ldrk gS%  
(A) vkosnu 
(B) okn 
(C) ;kfpdk 
(D) vihy 

79. Which of the following decision of the tax 
authority is applicable?   
(A)   Final decision to cavy tax  
(B) Preliminary decision to cavy tax   
(C) Both (A) and (B) 
(D) None of the above   

 79. dj izkf/kdkjh ds fdl fu.kZ; dh vihy gksxh% 
(A) dj mn~xzghr djus ds vfUre fu.kZ;  
(B) dj mn~xzghr djus dk izkjfEHkd fu.kZ; 
(C) (A) vkSj (B) nksuksa 
(D) mijksDr esa ls dksbZ ugh 

80. Which of the following is the apex body of the 
Income Tax Department?  
(A)   C.B.D.T. 
(B) Revenue Secretary  
(C) Cabinet Secretary 
(D) None of the above   

 80. fuEu esa ls dkSu vk;dj foHkkx loksZPPk fudk; gS% 
(A) lhŒchŒMhŒVhŒ 
(B) jkTkLo lfpo 
(C) dSfcusV lfpo 
(D) mijksDr esa ls dksbZ ugh 

81. The Income Tax Department formed in:  
(A)   1860 
(B) 1935 
(C) 1947 
(D) 1950   

 81. vk;dj foHkkx dk xBu gqvk% 
(A) 1860 
(B) 1935 
(C) 1947 
(D) 1950 

82. Who of the following is the chairman of CBDT 
(A)   Pramod Chand Modi 
(B) Rakesh Asthana 
(C) S.K. Das 
(D) Rajeev Gaba 

 82. fuEu esa lss dkSu lhŒchŒMhŒVhŒ dk v/;{k gS  
(A) izeksn pUn eksnh 
(B) jkds’k vLFkkuk 
(C) ,lŒdsŒ nkl 
(D) jktho xkck 
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83. Tax Evasion is   
(A)   A Criminal Activity 
(B) An Illegal Activity 
(C) Both (A) and (B) 
(D) None of the above 

 83. dj vioapu gS  
(A) ,d vkijkf/kd xfrfof/k  
(B) ,d voS/k xfrfof/k 
(C) (A) vkSj (B) nksuks 
(D) mijksDr esa ls dksbZ ugh 

84. Tax avoidance is : 
(A)   A Crime 
(B) A Tavy  
(C) A Legal act 
(D) None of the above   

 84. dj ifjgkj gS 
(A) ,d vijk/k  
(B) ,d vi—R;  
(C) ,d oS/k —R;  
(D) mijksDr esa ls dksbZ ugh 

85. Tax evasion is an activity commonly associated 
with 
(A)   Formal economy 
(B) Informal economy  
(C) Both (A) and (B)  
(D) None of the above 

 85. lkekU;r;k dj vioapu dh xfrfof/k lg;qDr gksrh gS% 
(A) vkSipkfjd vFkZO;oLFkk esa  
(B) vukSipkfjd vFkZO;LFkk esa  
(C) (A) vkSj (B) nksuksa esa  
(D) mijksDr esa ls dksbZ ugh 

86. Tax evasion is:  
(A)   Individual offence  
(B) Corporate Practice  
(C) Both (A) and (B)  
(D) None of the above 

 86. dj viopu gS 
(A) O;fDrxr vijk/k 
(B) fuxe O;ogkj 
(C) (A) vkSj (B) nksuks 
(D) mijksDr esa ls dksbZ ugh 

87. Penalty for not filling income tax return is:  
(A)   5000 or more 
(B) 10000 or more 
(C) 20000 or more 
(D) 50000 or more  

 87. vk;dj fjVuZ nkf[ky u djus dh ‘kfLRk gS 
(A) ik¡p gtkj ;k vf/kd 
(B) nl gtkj ;k vf/kd 
(C) chl gtkj ;k vf/kd 
(D) ipkl gtkj ;k vf/kd 

88. Which of the following section of the Income 
Tax Act Deals with defaulter:  
(A)   140 B (1) 
(B) 140 C (2) 
(C) 140 C (3)  
(D) 140 A (1) 

 88. fuEu esa ls vk;dj vf/kfu;e dh dkSu lh /kkjk 
fMQkYVj ls lEcfU/kr gS% 
(A)   140 B (1) 
(B) 140 C (2) 
(C) 140 C (3)  
(D) 140 A (1) 

89. If a tax payer receives a demand notice asking 
for tax payment the tax payer has to pay the 
requisite amount in: 
(A)   30 days 
(B) 60 days 
(C) 90 days  
(D) 120 days   

 89. ;fn ,d djnkrk dks dj Hkqxrku dh fMek.M uksfVl 
izkIRk gksrh gS rks djnkrk visf{kr jkf’k tek dj 
ldrk gS% 
(A) 30 fnu esa  
(B) 60 fnu esa  
(C) 90 fnu esa  
(D) 120 fnu esa  

90. Which of the following section deals with 
penalty for tax evasion? 
(A)   271 (C) 
(B) 271 (A) 
(C) 271 (B) 
(D) 271 (D) 

 90. fuEu esa ls dkSu lh /kkjk dj vioapu dh ‘kfLr ls 
lEcfU/kr gS% 
(A) 271 ¼x½ 
(B) 271 ¼d½ 
(C) 271 ¼[k½ 
(D) 271 ¼n½ 

91. Tax planning is a legal way of reducing:   
(A)   Income Tax 
(B) Corporate Tax 
(C) Sale Tax 
(D) Service Tax 

 91. dj fu;kstu de djus dk ,d fof/kd ekxZ gS% 
(A) vk;dj 
(B) fuxe dj 
(C) foØ; dj 
(D) lsok dj 
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92. Under which sections of the Income Tax Act 
can be deducted:    
(A)   80 C 
(B) 80 E 
(C) 80 M 
(D) All the above   

 92. vk;dj vf/kfu;e  dh fdl /kkjkvksa ds v/khu dj esa 
dVkSrh dh tk ldrh gS%  
(A)   80 C 
(B) 80 E 
(C) 80 M 
(D) mijksDr lHkh 

93. The primary objective of the planning is  
(A)   Economic stability 
(B) Reduction of tax liability  
(C) Growth of economy   
(D) All the above   

 93. dj fu;kstu dk izkFkfed mn~ns’; gS% 
(A) vkfFkZd fLFkjrk  
(B) dj nkf;Ro es deh 
(C) vFkZO;OkLFkk dk fodkl 
(D) mijksDr lHkh 

94. Which of the following section of the Income 
Tax Act is omitted?   
(A)   80 F 
(B) 80 H 
(C) 80 J  
(D) All the above   

 94. vk;dj vf/kfu;e dh dkSu lh /kkjk foyksfir gS 
(A)    80 F 
(B)  80 H 
(C)  80 J  
(D) mijksDr lHkh 

95. Income Tax Act contains:  
(A)   298 section  
(B) 398 section  
(C) 300 section   
(D) None of the above   

 95. vk;dj vf/kfu;e esa lekfgr gS% 
(A) 298 /kkjk 
(B) 398 /kkjk 
(C) 300 /kkjk 
(D) mijksDr esa ls dksbZ ugh 

96. The Income Tax Act 1961 came into force on: 
(A)   April 1,1961 
(B) April 1,1962 
(C) April 1,1963 
(D) April 1,1964 

 96. vk;dj vf/kfu;e 1961 izorZu esa vk;k% 
(A) vizSy 1]1961 
(B) vizSy 1]1962 
(C) vizSy 1]1963 
(D) vizSy 1]1964 

97. Which of the following section of the Income 
Tax Act defines Assessment year?  
(A)   2 (A) 
(B) 2 (9A) 
(C) 2 (10)  
(D) 2 (11) 

 97. fuEu esa ls vk;dj vf/kfu;e dh dkSu lh /kkjk 
fu/kkZj.k o”kZ dk ifjHkkf”kr djrk gS% 
(A)   2 (A) 
(B) 2 (9A) 
(C) 2 (10)  
(D) 2 (11) 

98. ‘Capital asset’ means: 
(A)   Jwellary   
(B) Archaeological collects  
(C) Paintings  
(D) None of the above  

 98. dSfiVy ,lsV ls vfHkiszr gS 
(A) vkHkw”k.k  
(B) iqjkrkfRod laxzg  
(C) isafVx 
(D) mijksDr esa ls dksbZ ugh 

99. Income Includes:  
(A)   Profit 
(B) Dividend 
(C) Both (A) and (B) 
(D) None of the above  

 99. vk; esa lfEefyr gS% 
(A) ykHk 
(B) ykHkka’k 
(C) (A) vkSj (B) nksuksa 
(D) d 

100. Person Includes: 
(A)   A Hindu undivided family 
(B) A local authority 
(C) A firm  
(D) All the above  

 100. O;fDr esa lfEefyr gS% 
(A) ,d fgUnw vfoHkkftr ifjokj 
(B) ,d LFkkuh; izkf/kdkjh 
(C) ,d QeZ 
(D) mijksDr lHkh 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for the 

error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems correct 

to you, darken that option number in your Answer Booklet (O.M.R 

ANSWER SHEET) completely with black or blue ball point pen. If any 

examinee will mark more than one answer of a particular question, then 

the first most option will be considered valid.    

3. Every question has same  marks. Every question you attempt correctly, marks 

will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R ANSWER 

SHEET). Answer marked anywhere else other than the determined place will 

not be considered valid. 

5. Please read all the instructions carefully before attempting anything on Answer 

Booklet (O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the examination 

room.   

7. There is no negative marking. 

Note:  On opening the question booklet, first check that all the pages of the question 

booklet are printed properly in case there is an issue please ask the examiner to 

change the booklet of same series and get another one.  

 


